FSY-17R6-K Diamond Frame Sliders
Yamaha R6 (2017)

PARTS LIST

e M10 x 55 Hex Bolts 2
e M6 x 16 Bolts 2
e Left Side Bracket with Puck 1
e Right Side Bracket with Puck 1

<< IT IS RECOMMENDED THAT THIS PRODUCT BE INSTALLED BY A QUALIFIED TECHNICIAN >>>>>>

ATTENTION: INSTALL ONE SIDE AT A TIME

DO NOT REMOVE BOTH engine mount bolts from both sides of the motorcycle at the same time!

RIGHT SIDE INSTALLATION LEFT SIDE INSTALLATION
1) Remove the right side fairing from the motorcycle. 1) Remove the left side fairing from the
motorcycle.

2) Remove the right side engine mount bolt. Keep

the stock spacer in the mount hole. 2) Remove the wire retainer from the frame

) shown in the photo 2. You can remove the

3) Install one of the supplied M10 x 55 bolts wire retainer from the wire it is no longer

through the right bracket hand tight. Install the needed

M6x16 bolt in the threaded 6mm hole in the

frame hand tight. Photo 1 3) Remove the left side engine mount bolt.

4) Install the left bracket with the M10 x 55 bolt
provided and hand tighten. Install the M6 x 16
in the threaded 6mm hole in the frame that is
exposed after removing the wire retainer and
hand tighten. Photo 2

5) Torque the M10 x 55 motor bolt to 40Nm /
28.8ft Ibs. Torque the M6x16 bolt to 9Nm / 6.6ft
Ibs.

PHOTO 1

4) Torque the M10 x 55 motor bolt to 40Nm /
28.8ft Ibs. Torque the M6x16 bolt to 9Nm/6.6ft
Ibs

5) Reinstall the right side fairing.

PHOTO 2

6) Reinstall the left side fairing.

The purchaser releases Graves Motorsports, Inc from all liabilities pertaining to the installation and use of purchased parts. Purchaser
recognizes that any alteration and/or modifications to the vehicle may increase the risk of injury or accident. This product is intended for
Closed Course Competition Use Only and may render the vehicle illegal for use on public roads.

On our website you can discover more about motorcycle guards & protection.


https://www.motorcycleid.com/graves-motorsports/
https://www.motorcycleid.com/guards-protection.html

